Jul.1.2019 Copyright 2019 HIROSE ELECTRIC CO., LTD. All Rights Reserved.
In case of consideration for using Automotive equipment / device which demand high reliability, kindly contact our sales window correspondents.

BUNIT A
| [ 4]
87.9 +0.8 1
B4.1£0.5 10.75 £0.3
M3X0. 5
on] o I i
|
D) \ 6.5 £0.3
= @ 7.35+£0.3
M2, 5X0. 45 \S\ —— )
T %,
— 6
I35 ° N3X0. 5 Qo E |
N3X0. HX4 @ @ 1305
( GROUND )
C ) I i%
1 | | l | %
6 | PBT BLACK, UL94V-0 12 | STEEL NICKEL PLATING M3X0. 5
5 | STAINLESS STEEL 11 | STEEL NICKEL PLATING
4 | STAINLESS STEEL 10 | PBT BLACK. UL94V-0
3 | PHOSPHOR BRONZE  |NICKEL PLATING g | STEEL NICKEL PLATING M3X0.5
2 | STAINLESS STEEL 8 | STAINLESS STEEL
NOTE 1. THE RECOMMENDED TIGHTENING TORQUE OF CAVER AND GROUND TO BE 0.315%0.06 N - m. 1 | ALUMINUM ALLOY ~ [UNDER NICKEL PLATING + CHROME PLATING | 7 [ ALUNINUM ALLOY ~ |UNDER NICKEL PLATING -+ CHROME PLATING
THE RECOMMENDED TIGHTENING TORQUE OF CLAMP TO BE 0.63=%0.12N - m. NO. MATERIAL FINISH . REMARKS NO. MATERIAL FINISH . REMARKS
2. THE RECOMMENDED TIGHTENING TORQUE OF CODING KEY TO BE 0.180. 03N - m. UNITS @ = SCALE COUNT |  DESCRIPTION OF REVISIONS DES|GNED CHECKED DATE
[3> UNIT A T0 BE ASSEMBLED TO FEMALE HOUSING D FOR FIG. 1 mm RN
4. CODING KEY, AVAILABLE SEPARATELY, SHALL BE ATTACHED TO THIS PRODUCT AFTER ASSEMBLY. APPROVED +NM. NISHIMATSU 15. 04. 28 | DRAWING EDC-128055-00-00
ms HIROSE = fcueckeo +NM. NISHIMATSU 15. 04 28 [o3RT TI50A-41S-D-CV
EBEC[%C DESIGNED :MO. SHIMOYAMA 15. 04. 28 |_NO.
U7 [orawN MO, SHIMOYAMA 15, 08,28 | "N CL236-3102-3-00 N
FORM HCO011-5-7 1 2 3 4 5 \ 6 \ 7 \ 8




Jul.1.2019 Copyright 2019 HIROSE ELECTRIC CO., LTD. All Rights Reserved.
In case of consideration for using Automotive equipment / device which demand high reliability, kindly contact our sales window correspondents.

BIUNIT B

So

7,
e U

S
oI
= L |
e i Sp—®
6\ M3X0, 5
( CROSS RECESSED NEED SCREWS WITH CAPTIVE WASHER)
r_Jj l%l ) ||l
DRAWING EDC-128055-00-00
]-RS "o, TJ50A-415-D-CV
“No. CL236-3102-3-00 |A\

FORM HCOO11-5-8 ] 2 3 4 5 6 \ 7 \ 8



Jul.1.2019 Copyright 2019 HIROSE ELECTRIC CO., LTD. All Rights Reserved.
In case of consideration for using Automotive equipment / device which demand high reliability, kindly contact our sales window correspondents.

1 2 4 5 6 7
BFEMALE HOUSING D CATTACHED PARTS)
| 67.1£0.3
| 63. 5 £0.3 ‘ i
+m\
1LEL 2 WL 0L BE B £ 9 S +E 27T A A
T l—
. S| ¥ CONTACT No. 1
Z Sl E N 0,2 O
2.5 £0.2 | | P=AhE02 ° 010
% o
o Qo
° /(o

| 4 40 39 38 37 36 35 34 33 32 N 30 29 28

—

O ‘ P= 4.5 0.2
I
@ 58,5 +0.2

N
Olﬂ),o

\

CABLE ENTRY
IDENTIFICATION MARK

[3>FI6.1 ASSEMBLY DRAWING (1:2)

BICLAMP METAL CATTACHED PARTS)

4,5 £0.3

Fé‘:(\

BSCREW FOR CLAMP METAL CATTACHED PARTS) .
( CROSS RECESSED NEED SCREWS WITH CAPTIV )

M3X0. 5

(10D

H
~ DRAWING EDC-128055-00-00
]-RS "o, TJ50A-415-D-CV
“Ro. CL236-3102-3-00

FORM HCOO11-5-8 ] 2 3 4 5 6 \ 7 \ 8



Jul.1.2019 Copyright 2019 HIROSE ELECTRIC CO., LTD. All Rights Reserved.
In case of consideration for using Automotive equipment / device which demand high reliability, kindly contact our sales window correspondents.

1 2 3 4 5 6 1 \ 8
GROUND SLIDE BUTTON ONIT B
= TN
-
=k @
sl <—E=ay ] 8
mi 1: —| &
- /$/ - THREADED PORTLON
g \) O T © @/' CLAVP WETAL @
;,q - O ATTACH THE CLAWP WETAL 0 UNIT A TO FIX THE CABLES.
Z THE RECONENDED TIGHTENING TORQUE OF CLANP TO BE 0.63=0. 12N - .
© DEEPLY INSERT REQUIRED NUMBER OF CRIMPED CONTACT, @/ MAKE SURE THAT THE SLIDE BUTTON IS POSITIONED AS SHOWN IN THE FIGURE ABOVE.

WHICH IS SEPARATELY AVAILABLE AND CRIMPED BY SPECIAL
CRIMPING TOOL, TO MALE HOUSING D.
REFER TO ATAT-E3050 FOR CRIMPING QUALITY STANDARDS.

UNIT A
|- LA -
(o] O© :
0
°© ° 90 o <—| -
.
— ;
—% © o

IDENTIFICATION MARK

@ PUT MALE HOUSING D WITH CONTACTS TO UNIT A AS THE IDENTIFICATION MARK IS VISIBLE.
CREVERSED ASSEMBLY IS STRUCTURALLY PREVENTED.)

== —

= —

@ TIGHTEN THE PLUG WITH COADING KEY, SEPARATELY AVAILBALE.

WHEN COVER WITH UNIT B AND FASTEN WITH SCREWS AT 3 POINTS. CA RECOMMEND TORQUE FOR SCREW 0.3150. 06N - m )

<GROUND SANNECTION>

WHEN 6 WITH CLAMP METAL. WRAP THE SHELDED MESH WITH COPPER TAPE AND FIX THEM WITH CLAMP METAL.
IF CLAMP ESN' T TOUCH COPPER TAPE DEPENDING ON THE NUMBER OF CABLE AND ITS STYLE

ADJUST THI [TH VINYL TAPE, COPPER TAPE AND SUCH.

WHEN' GROUNDING WI AL ROUND TERMINAL, FASTEN CRIMPED ROUND TERMINAL AT ERATH WIRE CONNECTION AREA WITH M3 SCREW.

(A RECOMMEND TORQUE F S}Q\D. 315£0. 06N - n D
&

@

XREFER TO ATAD-E3051 FOR ASSEMBLY.

DRANTNG EDC-128055-00-00

(A RECOMMEND TORQUE FOR SCREW 0.18=0.03N - m )

]-RS "o, TJ50A-415-D-CV

“No. CL236-3102-3-00

FORM HC0011-5-8 | 2 3

5 6 ! 7 ! 8




T Life

Hu1Boe NapTHEPCTBO

000 “/1aiipINeKTPOHUKC” “LifeElectronics” LLC

MHH 7805602321 K 780501001 P/C 40702810122510004610 ®AKb "ABCO/IOT BAHK" (3A0) 6 2.CaHkm-Ilemep6bypee K/C 30101810900000000703 EUK 044030703

KomnaHus «Life Electronics» 3aHumaemcsi nocmaskamu 351€KmMpPOHHbIX KOMITOHEHMO8 UMIOPMHO20 U
omedyecmeeHHo20 rpouseodcmea om npoudeodumernel u co ckrnados KpyrHbix ducmpubbomopos Esporibi,
AMepuku u Asuu.

C koHua 2013 200a KoMraHusi akmueHo pacwiupsiem fuHelKy MocmagoK KOMIOHEHMO8 0 HarnpaeneHuo
KoakcuarbHbIl kabesb, Keapuesbie 2eHepamopbl U KOHOeHCcamopbi (KepaMuyeckue, nieHoYHbIe,
3neKmposiumuyeckue), 3a cuyém 3akntoyeHuss ducmpubbromopcKux 002060p08

Mbi1 npednasaem:

o KoHKypeHmocnocobHbie UeHbl U CKUOKU MOCMOSIHHbIM KITUeHmMam.

e CrieyuarsnbHbie ycrio8usi 07151 TOCMOSIHHbIX KITUEHIMO8.

e [lod6op aHarnoeos.

lMocmaeky KomMrnoHeHmMo8 8 ftobbix obbemax, y0oernemeopstouUx eawum MompebHoCMSsM.

lpuemnembie cpoku nocmasku, 803MOXHa yCKOPEeHHasi mMocmaska.
Locmaeky mosapa & ritobyto moyky Poccuu u cmpaH CHI™.
KomrinekcHytro nocmasky.

Pabomy no npoekmam u rnocmasky obpa3syos.

®opmuposaHue ckiada nod 3akaszyuka.

Cepmucgbukambl coomeemcmeus Ha rnocmassnseMyro npooyKyuUto (Mo XenaHu KueHma).
o TecmuposaHue nocmasnsemMou npodyKyuu.

e [locmasKy KOMMOHEHMOo8, mMpebyruux 806HHYIO U KOCMUYECKYH MPUEMKY.

e  BxodHoli KOHMposib Ka4yecmea.

e  Hanu4yue cepmugpukama I1SO.

B cocmaee Hawel komnaHuu opeaHu3oeaH KoHcmpykmopckuli omderst, npu3eaHHbIl MomMozamb
paspabomyukam, U UHXEHepaM.

KoHcmpykmopckuli omOen nomoaaem ocyujecmseums:

Pezaucmpauuro npoekma y npousgooumersisi KOMIOHEHMOS.

TexHu4eckyro no0depXKy rnpoekma.

Bawumy om cHaMuUs KOMroHeHma ¢ npoussoocmea.

OueHKy cmoumocmu fpoeKkma ro KOMIOHeHmam.

U3ezomoerneHue mecmosol rnnambl MOHMaX U ryckoHanadoyHbie pabomeil.

lattis % A g nncen TP intessil, Panasons (T U170 ATEL AMDIN EEEs

0KI ﬂ_[ [ SANYD Quaoww RENESAS  SIEMENS SHARP _ ’[:E”"—:,l
g Sy, [IE moxm s U AT €N [qaL

BOURNME

NS 7, Citwbond DALLAS Meare  Gllegns (inteD e | ™ RONM
International . . — .
..-nﬂm.n._,,.,_ w@ TosHiga ZETEX 'niemalofa Amphenol élantec uichicon FU]ITSU

Viccn 5, e Y Sice . @ su@ N [BTOKO

Ten: +7 (812) 336 43 04 (MHO20KaHANbHbI)
Email: org@lifeelectronics.ru

www.lifeelectronics.ru


mailto:org@lifeelectronics.ru
http://lifeelectronics.ru/

